

$$f \text{ - ma bieguny w } 1 \text{ i } a \Rightarrow \operatorname{res}(f; a) = \lim_{z \rightarrow a} f(z) (z-a)$$

$$-11 \text{ --- } \leq m \text{ w } a \Rightarrow \operatorname{res}(f; a) = \lim_{z \rightarrow a} \left[ \frac{1}{(m-1)!} g^{(m-1)}(z) \right], \quad g(z) = (z-a)^m f(z)$$

$$\left\{ \begin{array}{l} z \in D' \setminus \{a\} \\ f(z) = \sum_{n=-m}^{\infty} c_n (z-a)^n \end{array} \right.$$

$$\text{80 } f_1(z) = \frac{1}{z^3 - z^5} \quad z^3 - z^5 = z^3(1-z)(1+z)$$

z (77)  $f_1$  ma bieguny w 0, 1, -1 w potęgach 3, 1, 1 (odpowiednio)

$$\operatorname{Res}(f_1, 1) = \lim_{z \rightarrow 1} \frac{1}{z^3(1-z)(1+z)} \cdot (z-1)^{-1} = \frac{-1}{1 \cdot 2} = -\frac{1}{2}$$

$$\operatorname{Res}(f_1, -1) = \lim_{z \rightarrow -1} \frac{1}{z^3(1-z)(1+z)} \cdot (1+z) = \frac{1}{-2}$$

$$\operatorname{Res}(f_1, 0) = \lim_{z \rightarrow 0} \frac{1}{2!} g^{(2)}(z) = \frac{1}{2!} \frac{2}{1 \cdot 1}$$

$$g(z) = \frac{1}{z^3(1-z^2)} = \frac{1}{1-z^2}$$

$$g'(z) = \frac{+2z}{(1-z^2)^2} \quad g^{(2)}(z) = \frac{-2(1-z^2)^2 + 2z \cdot 2(1-z^2) \cdot -2z}{(1-z^2)^4} =$$

$$= \underline{\hspace{2cm}}$$

)